
Figure 13.2 Distribution of the F Ratio With 2 and 37 Degrees of Freedom When the Null Hypothesis Is True. The red vertical line represents the critical
value when α is .05.

means in the population. If p is greater than .05, then we retain the null hypothesis and conclude that there is not
enough evidence to say that there are differences. In the unlikely event that we would compute F by hand, we can
use a table of critical values like Table 13.3 “Table of Critical Values of ” to make the decision. The idea is that
any F ratio greater than the critical value has a p value of less than .05. Thus if the F ratio we compute is beyond
the critical value, then we reject the null hypothesis. If the F ratio we compute is less than the critical value, then we
retain the null hypothesis.
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